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Representing Stimulus Histories
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Representing Functions: Sampling
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Representing Functions: Sampling
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Representing Functions: Sampling
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Representing Functions: Fourier Basis
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Representing Functions: Fourier Basis
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Representing Functions: Fourier Basis
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Representing Functions: Fourier Basis
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Representing Functions: Fourier Basis
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Representing Functions: Cosine Basis
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Representing Functions: Cosine Basis
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Representing Functions: Cosine Basis
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Representing Functions: ReLU Basis
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Representing Functions: ReLU Basis
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Representing Functions: ReLU Basis
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Representing Functions: ReLU Basis
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Representing Functions: ReLU Basis
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Representing Functions: Legendre Basis
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Representing Functions: Legendre Basis
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Representing Functions: Legendre Basis
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Representing Functions: Legendre Basis
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Implementing the Delay Network

A

B ∫u(t) x(t)+

A'

B'u(t) x(t)h+

θA = aij ∈ Rq×q , aij =

{
(2i + 1)(−1) i < j ,
(2i + 1)(−1)i−j+1 i ≥ j

θB = bi ∈ Rq , bi = (2i + 1)(−1)i

A′ = τA + I B′ = τB
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Delay Network: Step Function
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Delay Network: Windowed Sine Function
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Image sources

Title slide
Infrared Photograph of a Sundial Near the Einstein Tower in Potsdam, Germany
Author: DrNRNowaczyk, 2007.
From Wikimedia.

https://commons.wikimedia.org/wiki/File:A22_2007-06_Einsteinturm_Sonnenuhr_p6070062.jpg

